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Semester 2, 2016 - 2017

Grade 11 Pre-AP Functions
Minor Test — Unit 1 — Function_Concepts, Notation, Perspectives, Applications, Transformations
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Part 1: Modified True/False (6 KU)
State whether each statement is true or false. If false, chapgs

1. TIF E ')f((ab): f (a) f (b) for all functions f

i It il el TN

X
and all real numbers a and b. Change: y(a IDB or ﬁ(l‘)‘h
J/
2. T/FE If g(a)=b then (b,a) lies of the graph of g. Change: (sq;; lD) X

3. TIF f' All functions are relations and all relations are functions. Change:

but nob all X

4. TIF E ‘)/ = —12. The graph of g is obtained by ' ‘ :
shifting f twelve units down then reflecting in the x-axis. Change: reﬂed' (h X—ax (s, then
shift down | X
5. T/IF_[F 71 f(u)=u then f*(u):%. Change: )C'(u) =u X
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Part 2: Problems
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2 ( b
7. State the domain and range of f(x):m. (2 KU) f(;u) = (xs Sox—C) '-“-2\’-"‘9/ -l

Domain = E_’Xé]&! %*"”g /

A bowling-shoe-rental company charges $2 per shoe rental and averages 4000

rentals

industry, for every $0.10 increase in price, a typical company can expect to lose
100 rentals per day. How much should the company charge to maximize v
revenue? (8 APP) 1

X reprcsent‘ the # ot #0.10 \ncreases in F"lce.‘/' L '-'ay(:' EERE

Let
Let

Then R(x) = (4000-100%)(0.1% + )~
Zeros! —20 H./ #+ ckels <0)d price

Xx+11 x+l\

Range = S\lféﬂ)\ll ‘y¢’,7g /

per day. According to marketing studies of the bowling-shoe-rental
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10. Let f(x)= |x+2| . The function g is obtained by performing the following transformations to f:

Horizontal Transformations Vertical Transformations
1. Reflect in the y-axis 1. Reflect in the x-axis
2. Stretch by a factor of 2 2. Stretch by a factor of 3
3. Translate 4 units to the right 3. Translate 30 units up

(@) Write the transformation using mapping (b) Write the transformation using function notation. (4 KU)
notation. (4 KU) /O

(x VP(-R{;% -3%?0) 9(x)= -3f(-1;'r(*x -‘f)) + 320

(c) Apply the transformation to five key (d) On the given grid, sketch the graphs of both f and g.
points on . (5 APP) (= Lf _;ﬂgp) (5 APP)
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(e) Find the equation of g by using your answer to (b) as well as your graph. (4 TIPS)

g(x) = - 3F (-%(x-4))+20 =-3|- xﬂr'ﬁo/
DRI R CEDILY *50““ = 3|-5(x-8)] 130) 4,
= -3 |-zxtd+ =313} [ x-3)+30

=3
W_/
11. Suppose that f (x)=x*—3x— 10 (13 TIP& (,%-—5')(3(.1-1) e.a;ld be 2
oblgine Y=
@ (a) Use the zeros of f to sketch its graph on the provided grid. From srafvln 7
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(b) Restrict the domain of f in such a way that f ™ is defined. Prop ?rf-

@ D= gxéf?\}’)c?i} lqbl~|a(|5|
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@ (c) Sketch the graph of f ™ for the restricted domain in (b). A5 A2 86 3L

(d) Find the equation of f*
F(x) = (x__)il q;; ‘/Obkus because oF (a))
@ To Form )L-‘) Der‘Form transF (7‘;)’) 9(711)/ i )
x= (y 2V ecause of the restrited dominif £ ( upper}nl "only)
,Jr V' «—also ebvious

M From gr PI" KU | APP | TIPS COM
Y = 1-/\] -r_‘l 4\{ + /JE l:ransl«ft’" 0 -0 0 -0
2
(e) State the domaln and range of ﬂ le'F+ o'md P

@ Domain = SKGH{! xz_fe?:& / Range = §'YER] )/2 _351/
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